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Question 1 (18 marks)
Answer the following independent questions:

A) (4 Marks) Sun Microsystems, Inc. recorded credit sales of $11,575,000 for the fiscal year
ending on December 31, 2009. In addition, the company allowed returns of $28,000
during the year that were originally purchased on credit. The accounts receivable balance
on December 31, 2008 was $2,258,000 and the balance in the allowance for doubtful
accounts was a $71,000 credit. During 2009, management wrote off $74,250 of accounts
receivable as uncollectible. A review of prior years indicates that approximately two
percent of net credit sales will not be collected. Prepare the adjusting entry required at
December 31, 2009, or explain why no entry is required.

Credit Sales $11,575,000

Less: Returns 28,000
Net Credit Sales $11,547,000
X 2%
= $230,940
Bad Debt Expense $230,940

Allowance for Doubtful Accounts $230,940

B) (4 Marks) Abebooks uses the aging method to estimate bad debt expense. The accountant
prepared the following aging for the accounts receivable at year end:

Amount Bad Debt Rate
Notyetdue | $ 689,000 | 1% $ 6,890
1-45 days past due 309,000 | 4% $ 12,360
46-120 days past due 98,000 | 12% $ 11,760
More than 120 days past due 46,000 | 45% $ 20,700
Total 1,142,000 $ 51,710

The current balance in the Allowance for Doubtful Accounts is $1,750 (credit). Determine the
amount and prepare the journal entry to record the bad debt expense for the year.

$51,710
Less $ 1,750
$49.960
Bad Debt Expense $49,960

Allowance for Doubtful Accounts $49,960




(4 Marks) Open Text gathered information about ending inventory in order to prepare
their financial statements for the year ended December 31, 2010. The company uses the
FIFO method to determine inventory cost. Determine the inventory value that should be
reported on the Balance Sheet for the year ended December 31, 2010 for Open Text.

Item Quantity on Unit cost Net Realizable Inventory
hand when Value at Dec. Value
acquired 31
5900ESR 1,127 $354.00 $325 $ 366,275
7200CPE 2,785 $289.00 $550 804,855
1004ASR 1,789 $329.00 $300 536,700
Total Inventory on Balance Sheet=| $1,707,840

C) (6 Marks) Roots purchased a piece of equipment on January 1, 2009, at a cost of
$765,000. The equipment has an estimated useful life of 10 years and the company
expects to use the machine for 33,000 hours. The salvage value is expected to be
$50,000. Actual equipment use was 1,750 hours in 2009 and 3,500 in 2010. Calculate the

amortization expense for 2010 and accumulated amortization at December 31, 2010,
under each of the following methods.

Amortization Expense for Accumulated Amortization at
2010 December 31, 2010
Straight-line method
$71,500 $143,000
Units of production method
$75,833 $113,750
Double declining balance
method $122,400 $275,400




Question 2 (12 marks)
Answer the following independent questions:
A) (8 Marks) The records for Gehl Company show the following inventory transactions for
the month of October 2008:

Date Transactions Number of Units Unit Cost Selling Price
Oct. 1 Beginning inventory 400 $30

Oct. 5 Sale 100 $50
Oct. 10 Purchase 300 $32

Oct. 14 Purchase 200 $33

Oct. 16 Sale 500 $50
Oct. 25 Sale 100 $52

The company is able to track each unit since it has a unique serial number. As a result, Gehl
Company knows that 100 units of the ending inventory came from the October 10 purchase and
the remaining units came from the beginning inventory. Gehl uses a periodic inventory system.
Required:

Complete the following table:

Inventory Method

Number FIFO Weighted Specific Identification

of Units Average
Cost of 700 400*$30+300*$32 | $31.33 * | 300*$30+200*$32+200*$33
Goods $21,600 700 $22,000
Sold $21,933
Ending 200 200*$33 $31.33 * | 100*$32+100*$30
Inventory $6.600 200 $6,200

$6,267




B) (4 Marks) The records for Chappell Corporation show the following inventory
transactions for the month of September 2010:

Date Transactions Number of Units Unit Cost Selling Price
Sept. 1 Beginning inventory 400 $45

Sept. 5 Sale 200 $80
Sept. 10 Purchase 250 $55

Chappell Corporation uses a perpetual inventory system and the weighted average method to
value its inventory.

Required:

Complete the following table:

Number of Weighted Average
Units Total Value
Cost of Goods Sold 200 $9,000
Ending Inventory 450 $22,750
200*$45 + 250*$55




Question 3 (7 marks)
Answer the following independent questions:
A) (5 Marks) Research in Motion purchased manufacturing equipment for $547,000 on May
1, 2006 with an estimated residual value of $78,000. The useful life was expected to be 5
years and the company uses straight-line amortization. RIM sold the equipment for
$126,000 on August 1, 2010 for cash. Prepare the journal entry to record the sale of the
equipment.

[(547,000-$78,000)/5] * 4 3/12 = $398,650 depreciation

NBYV = $547,000 - $398,650 = $148,350

Less: 126,000
Sold at a loss: $22,350
Cash $126,000
Accum. Amortization 398,650
Loss on sale of equipment 22,350
Equipment $547,000

B) (2 Marks) On November 1, 2010, Cummings Ltd. signed a note to borrow $150,000 from
the bank. The note is due in 3 months and the interest rate is 6%. Prepare the adjusting
entry required (for Cummings) at December 31, 2010, or explain why no entry is
required.

$150,000 * 6% * 2/12 = $1,500

Interest Expense $1,500
Interest Payable $1,500



Question 4 (9 marks)

The October 31 bank statement of Dunlap Engineering has just arrived from the Bank of
Montreal. To prepare Dunlap’s bank reconciliation, you gather the following data.

0 Dunlap’s cash account shows a balance of $7,605.86 on October 31.

0 The October 31 bank balance is $8,340.87.

0 The September bank reconciliation listed a deposit in transit of $175 and outstanding

cheques of $1,405

0 The bank statement showed that a total of $20,100 of cheques cleared during October
0 The bank statement showed that a check deposited from a Dunlap customer was returned

NSF. The cheque was for $63.39.

o The bank statement showed deposits for October of $4,786.
0 The bank statement listed a $114.05 bank service charge and interest earned of $15.45.
0 The company records listed a total of $19,667 in cheques written in October and $4,686

in deposits.

Required:

Prepare a bank reconciliation for the president using the following table:

Dunlap Engineering
Bank Reconciliation
October 31, 2010

Company’s Books $7,605.86 Bank Statement $8,340.87
Additions Additions
Interest $15.45 175
+4,686
-4,786
Deposits in transit $75
Deductions Deductions
NSF cheque $63.39 +1,405
Bank service charge $114.05 +21§vfgg

Outstanding cheques $972

Ending correct cash balance: $7,443.87

Ending correct cash balance: $7,443.87




Question 5 (17 marks)
Answer the following independent questions:

A) (2 marks) On September 1%, 2010, Logistec borrowed $2,500,000 from the bank. The
loan must be repaid in 10 equal annual payments, with the first payment due in one year.
The interest rate on the loan is 7%. Calculate the amount of each loan payment. Please
circle your answer.

N =10 |=.07
$2,500,000 = A * ( 7.0236) or $2,500,000 = A * (7.032582)
A= $355,943 or A = $355,944

B) (5 Marks) General Electric issued a $5,000,000 bond on January 1, 2009. The bond is due
in 5 years, has an interest rate of 5% and pays interest semi-annually. The market interest
rate is 4%. The company uses the effective interest rate method of amortization.

Prepare the journal entry to record the issue of the bond. (Please show all calculations)

N =10,i=2%, annuity payments are $125,000

$5,000,000 * .8203 = $4,101,500 $5,000,000 *.820348 = $4,101,741.49
$125,000 * 8.9826 = $1,122,825 $125,000 * 8.982585 = $1,122,823.13
= $5,224,325 = $5,224,564.62
Cash $5,224,325
Premium on Bond Payable $ 224,325

Bond Payable $5,000,000



C) (3 Marks) Huang Company issued a $1,000,000 bond on December 31, 2006. The bond
is due in 10 years, has an interest rate of 8%, and pays interest annually on December
31st. The market interest rate is 9%. The issue price was $935,823. The company uses the
effective interest rate method of amortization. Prepare the journal entry to record the first
interest payment on December 31, 2007.

$935,823 * .09 = $84,224.07

Interest Expense $84,224
Discount on Bonds Payable $ 4,224
Cash $80,000

D) (7 Marks) Time Warner issued a $3,000,000 bond on July 1, 2009. The bond is due in 3
years, pays interest annually, and has an interest rate of 6%. The market interest rate is
8%. The company uses the effective interest rate method of amortization. Complete the
following table. Please round all numbers to the nearest dollar.

Date Interest Interest Amortization of Book Value
Payment Expense Discount or
Premium
July 1, 2009 $2,845 374
July 1, 2010 $180,000 $227.630 $47.630 $2.893.004
July 1, 2011 $180,000 $231,440 $51,440 $2,044,444
July 1, 2012 $180,000 $235 556 $55,556 $3,000,000




Question 6 (10 marks)
Answer the following independent questions:

A) (4 marks) Yahoo, Inc. has the following shares outstanding at their fiscal year end,

December 31, 2009:

Preferred shares: $4.00, 10,000 shares outstanding
Common shares: 20,000 shares outstanding

Preferred dividends were fully paid in 2006 but were not paid in 2007 or 2008. The board
of directors declared a cash dividend of $125,000 for 2009. Complete the following table
showing the dividend amount to be paid to preferred and common shareholders under each

of the following assumptions:
a) The preferred shares are non-cumulative.
b) The preferred shares are cumulative.

a) Non-cumulative
Preferred Shares

b) Cumulative Preferred
Shares

Preferred Shares $40,000

$120,000

Common Shares $85,000

$ 5,000




B) (6 Marks) The sharcholders’ equity section of the Balance Sheet of Hawthorne Inc. showed
the following on December 31, 2008:

Common shares (authorized 500,000 shares,
outstanding 150,000 shares) $ 900,000
Retained earnings 1,625,000
The Board of Directors met on September 1, 2009 to consider implementing one of the
following options:
a) a 20% stock dividend; the current market price is $14 per share;
b) a 2-for-1 stock split.
Complete the following table to show the impact of these options:

a) Stock Dividend b) Stock Split
Number of Dollar Number of Dollar
shares amount shares amount
outstanding outstanding
Common shares 150,000*1.20 = $ 1,320,000 150,000 * 2 $900,000
180,000 300,000
Retained $1,205,000 $1,625,000
earnings




Question 7 (15 marks)
A review of the financial records for the Burn Corporation revealed the following information
for 2010:

Cash balance, January 1, 2010....... ccceverereneiececeeee e $28,950
NET INCOME ..ttt bbb 62,700
Stock dividend on COMMON SNAES ......c.vveveiieiriieiiiieee e 20,000
Net increase in accounts payable ..., 2,800
Amortization expense for building and equipment...........ccccocoeivnene. 28,500
Cash dividend on commON Shares..........ccocoviiiiiiieniinieeee s 12,500
Net increase in accounts receivable ..., 8,700
Expenditure for the purchase of equipment..........cccccocevevvcieviicieens 42,000
Net decrease IN INVENTOTIES ........vevviicviiee ettt e e sbae e 3,500
Purchase of office equipment in exchange for note payable .................. 8,100
Cash received from sale of eqUIPMENT ..........cccocoiiiiiiiiiie e 15,300
(Original cost $61,000, accumulated amortization $41,500)
Cash Balance, December 31, 2010 ......ccuvveiieiiiee e 82,750
Required:

Prepare the statement of cash flows for the Burn Corporation for 2010 using the indirect method.
Please use the following table to complete this question.



Burn Corporation
Statement of Cash Flows
For the period ending December 31, 2010

Operating Activities:

Net Income 62,700
Accounts Payable Increase 2,800
Amortization Expense 28,500
Account Receivable Increase (8,700)
Inventory Decrease 3,500
Loss on Sale of Equipment 4,200
Net cash flow from operating activities 93,000

Investing Activities:

Purchase of Equipment (42,000)
Sale of Equipment 15,300
Net cash flow from investing activities (26,700)

Financing Activities

Dividend paid (12,500)

Net cash flow from financing activities (12,500)
_Change in cash 53,800
Cash balance on January 1, 2010 28,950
Cash balance on December 31, 2010 82,750

Non-cash Investing and Financing Activities

Purchased office equipment with Note payable $8,100




Question 8 (7 marks)

The answers to the following questions must appear in the space provided.

1. (3 Marks)
a. Briefly define liquidity.

The ability to meet current obligations.
Or
The ability to convert an asset to cash quickly

b. List two ratios you would use to measure the liquidity of a company.

Any 2 of the following:
Cash ratio

Quick ratio

Current ratio
Receivable turnover
Inventory turnover
Payable turnover
Working Capital

2. (2 Marks) The article “Weak Links..” describes several methods to reduce inventory
costs. List and briefly describe 2 ways to reduce inventory costs that were suggested in
the article.

Any 2 of the following:

Centralize warehousing/reduce storage costs

Optimize delivery schedules/reduce delivery costs/maximize fuel efficiency /lower
fuel costs

Reduce waste/equipment that doesn’t overfill bottles/reduce raw material cost
Reduce batch size/reduce spoilage/reduce raw material cost

3. (2 Marks) In the article “Is Target Corp.’s Credit Too Generous?”” analysts are concerned
that Target’s Bad debt expense is too low. How would this impact current period’s net
income? Do analysts believe Target is being conservative or aggressive?

If bad debt expense is too low net income would be overstated.
Analysts for the most part believe Target is being too aggressive.




Question 9 (30 marks)

Question 9 consisted of 30 multiple choice questions. There was no mark penalty for incorrect
answers. The answers had to be recorded on a University of Waterloo answer card.

The midterm examination and the 2005 sample final examination provide examples of typical
multiple choice questions.



Price- Earnings Ratio

OR

Debt to Equity Ratio

Total Asset Turnover Ratio

Return on Assets

Earnings per Share

Net Profit Margin

Quality of Income Ratio

Capital Acquisition Ratio

Return on Equity

Gross Profit Percentage

Accounts Receivable Turnover Ratio

Average Collection Period or

Average Age of Receivables

OR

Ratios

Market Price
Net Income

Market Price per Share

Earnings per Share

Total Liabilities
Owners’ Equity

Net Sales

Average Total Assets

Net Income

Average Total Assets

Net Income Available to Common Shareholders

Weighted-Average Number of Common Shares

Net Income

Net Sales

Cash Flow from Operating Activities

Net Income

Cash Flow from Operating Activities
Cash Paid for Property, Plant, and Equipment

Net Income
Average Shareholders’ Equity

Gross Profit
Net Sales

Net Sales
Average Net Trade Accounts Receivable

365 days
Accounts Receivable Turnover Ratio

Average Net Trade Accounts Receivable
Average Sales per Day




Inventory Turnover Cost of Goods Sold
Average Inventory

Days to Sell Inventory or 365 days
Average Day’s Supply in Inventory Inventory Turnover
OR Average Inventory

Average Cost of Goods Sold per Day

Fixed Asset Turnover ___Net Sales Revenue_
Average Net Fixed Assets

Current Ratio Current Assets
Current Liabilities

Accounts Payable Turnover Ratio Cost of Goods Sold
Average Accounts Payable

Average Age of Accounts Payable 365 days
Accounts Payable Turnover Ratio

OR Average Accounts Payable
Average Cost of Goods Sold per Day

Financial Leverage Ratio Average Total Assets
Average Shareholders’ Equity

Times Interest Earned Net Income + Interest Expense + Income Tax Expense
Ratio Interest Expense
Dividend Payout Ratio Dividends
Net Income
Quick Ratio Cash + Short-Term Investments + Net Accounts Receivable

Current Liabilities

Cash Ratio Cash + Cash Equivalents
Current Liabilities

Cash Coverage Cash F from Operating Activities + Interest Paid + Income Taxes Paid
Ratio Interest Paid




L TASLE AT

. Present Value of $1,p=1/{1+ip

| Periods 2% 3% 3.75% 4% 4.25% 5% 6% 7% 8%
1 0.9804 09709  0.9639 0.9615 0.9592 0.9524 0.9434 0.9346 0.9259
| 2 0.9612 0.9426 0.9290 0.9246 0.9201 0.9070 0.8900 0.8734 0.8573
3 0.9423 0.9151 0.8954 0.8890 0.8826 0.8638 0.8396 0.8163 0.7938
4 0.9238 0.8885  0.8631 0.8548 0.8466 0.8227 0.7921 0.7629 0.7350
5 0.9057 0.8626  0.8319 0.8219 0.8121 0.7835 0.7473 0.7130 0.6806
6 0.8880 0.8375  0.8018 0.7903 0.7790 0.7462 0.7050 0.6663 0.6302
7 0.8706 0.8131 0.7728 0.7599 0.7473 0.7107 0.6651 0.6227 05835
8 0.8535 0.7894 0.7449 0.7307 0.7168 0.6768 0.6274 0.5820 0.5403
9 0.8368 0.7664  0.7180 0.7026 0.6876 0.6446 0.5919 0.5439 0.5002
10 0.8203 0.7441 0.6920 0.6756 0.6595 0.6139 0.5584 0.5083 04632
20 0.6730 0.5534  0.4789 0.4564 04350  ° 0.3769 0.3118 0.2584 02145
Periods 9% 10% 11% 12% 13% 14% 15% 1 20% 25%
= 0.9174 0.9091 0.9009 0.8929 0.8850 0.8772 0.8696 0.8333 0.8000
- 0.8417 08264 08116 0.7972 0.7831 0.7695 0.7561 0.6944 0.6400
| 3 0.7722 0.7513 0.7312 0.7118 0.6931 0.6750 0.6575 0.5787 0.5120
4 0.7084 06830  0.6587 0.6355 0.6133 0.5921 05718 0.4823 0.4096 -
-5 0.6499 0.6209 0.5935 0.5674 0.5428 0.5194 0.4972 0.401¢ 0.3277
6 0.5963 05645  0.5346 0.5066 0.4803 0.4556 0.4323 0.3349 0.2621
L 7 0.5470 0.5132 0.4817 0.4523 0.4251 0.3996 0.3759 0.2791 0.2097 -
8 0.5019 0.4665 0.4339 0.4039 0.3762 0.3506 0.3269 0.2326 0.1678
9 0.4604 0.4241 0.3909 0.3606 0.3329 0.3075 0.2843 0.1938 0.1342
10 0.4224 03855 - 0.3522 0.3220 0.2946 0.2697 0.2472 0.1615 0.1074-
20 0.1784 0.1486 01240  0.1037 0.0868 0.0728 0.0611 0.0261 0.0115

i-_'There is one payment each period.

TABLE A.2
 Present Value of Annuity of $1, P = 1 — 1/(1 + iyfi
& Periods* 2% 3% 3.75% 4% 4.25% 5% 6% 7% 8%

1 0.9804 0.9709 0.9639 0.9615 0.9592 0.9524 0.9434 0.9346 0.9259

- 2 1.9416 1.9135 1.8929 1.8861 1.8704 1.8594 1.8334 1.8080 1.7833

[ 3 2.8839 2.8286 2.7883 2.7751 2.7620 2.7232 2.6730 2.6243 25771

4 3.8077 3.7171 3.6514 3.6299 3.6086 3.5460 3.4651 3.3872 3.3121

5 47135 45797 44833 4.4518 4.4207 4.3295 4.2124 4.1002 3.9927
6 5.6014 5.4172 5.2851 5.2421 5.1997 5.0757 4.9173 4.7665 46229

- 7 6.4720 6.2303 6.0579 6.0021 5.9470 5.7864 5.5824 . 5.3893 52064

8 7.3255 7.0197 6.8028 6.7327 6.6638 6.4632 6.2098 5.9713 5.7466

9 8.1622 7.7861 7.5208 7.4353 7.3513 7.1078 6.8017 6.5152 6.2469

10 8.9826 8.5302 8.2128 8.1109 8.0109 7.7217 7.3601 7.0236 6.7101

20 16,3514 148775 138962  13.5903 13.2944 12.4622 11,4699 10.5940 98181

L Periods* 9% 10% 1% 12% 13% 14% 15% 20% 25%
3 0.9174 0.9091 0.9009 0.8929 0.8550 0.8772 0.8696 0.8333 0.8000

2 1.7591 1.7355 1.7125 1.6901 1.6681 1.6467 1.6257 15278 1.4400

3 25313 2.4869 2.4437 2.4018 2.3612 2.3216 22832 21065 1.9520

4 3.2397 3.1699 3.1024 3.0373 29745 2.9137 2.8550 2.5887 23616
5 3.8897 3.7908 3.6959 3.6048 35172 3.4331 3.3522 2.9906 26893
6 4.4859 4.3553 4.2305 4.1114 3.9975 3.8887 3.7845 3.3255 29514

7 5.0330 4.8684 4.7122 45638 4.4226 4.2883 4,1604 36046 3161

8 5.5348 5.3349 5.1461 4.9676 4.7988 4.6389 4.4873 3.8372 3.3289 -

9 5.9952 5.7590 5.5370 5.3282 41317 4.9464 47716 4.0310 3.4631
10 6.4177 6.1446 5.8892 5.6502 5.4262 5.2161 5.0188 41925 3.5705

20 9.1285 8.5136 7.9633 7.4694 7.0248 6.6231 6.2593 4.8696 3.9539

LA



